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Al 1,056,854
T Hl 1,046,182
g =48 & o d 1,955,682 1,909, 087 46,595
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T Hl 743,501
Ao 1,692,632 1,547,387 145,245
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Al Hl 249,803
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L Hl 166,535
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NESSH LXelAd 549,790 646,654 A 96,864
s 274,895
Al HI 137,448
I 137,447
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s 274,895
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201 ¢er24| 1,000 1,000 0
01 At 22l 1,000 1,000 0
Os22 HM& s 1,000, 000& 1,000
301 LEPEXF 19,000 29,000 A 10,000
01 MEIBEE 053 19,000 29,000 A 10,000
OO0istAlE EAlE XI& 19,000, 000& 19,000
MNASE XEIIEE &4 2,967,408 3,090,961 A 123,553
= 715,083
s 1,511,213
Al 511,591
Tl 229,521
MIAMEIA - AEAE TR 2,967,408 3,090,961 A 123,553
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s 1,511,213
Al 511,591
Tl 229,521
JtAFZIE 2 Al A ALY 281,259 311,428 230,169
s 196,881
Al 42,189
I 42,189
307 21201 A 281,259 311,428 A 30,169
s 196,881
Al 42,189
I 42,189
05 BIZHRIE 3 281,259 311,428 230,169
OJtAIZHE & E M HI A A 281,259,000& 281,259
s 196,881
AlHI 42,189
T Hl 42,189
KNSAASI M ASETALS (RIGHLE HIRH) 1,873,317 1,809,310 64,007
= 1,311,322
AlHI 374,663
T Hl 187,332
307 glz2tol & 1,873,317 1,809,310 64,007
= 1,311,322
AlHI 374,663
T Hl 187,332
05 RIZHRI & 3 1,873,317 1,809,310 64,007
OXSIHLS H<H 1,873,317,000& 1,873,317
s 1,311,322
Al 374,663
Tl 187,332
NEAMSIHEIAERALE 29 4,300 4,300 0
as 3,010
Al 1,290
201 Let2d] 4,300 4,300 0
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= 238,483
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307 Q12+OI & 271,610 409,616
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Al HI 33,127
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= 238,483
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22s8EA==2 X9 132,681 56,496
= 119,413
Al HI 13,268
307 QI2t0| ™ 132,681 56,496
= 119,413
Al HI 13,268
05 QIZtRES 132,681 56,496
ougasssd 132,681,000 132,681
= 119,413
Al HI 13,268
2sdEdceLas e 2NN (23U UINSER 108,790 193,549
= 95,735
Al HI 13,055
307 2I2t0| ™ 108,790 193, 549
= 95,735
Al HI 13,055
05 QIZ2tE 2 108,790 193,549
OFEI U SEH 108,790,000 108,790
= 95,735
Al HI 13,055
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2 95,224
AlBI 11,769
307 @lz2tol & 106,993 113,529 26,536
= 95,224
AlHI 11,769
05 22t & =3 106,993 113,529 26,536
OFBE M=% 106,993,000& 106,993
= 95,224
Al'Hl 11,769
dH2IIY(LA2ISA L) 73,160 87,114 13,954
el 2l 34,201 35,759 A 1,558
eI =gl 34,201 35,759 A1,558
101 @124 8] 34,201 35,759 A 1,558
03 RIHLZ 22> 34,201 35,759 A 1,558
OFEYSA 34,201
N2s 2,237,850 x1E «12& 26,855
d0ls 2,992,460 *36% 1,078
- Scl=d4y 3,351
- A=A 130,000& »12& 1,560
- 230l 2,237,850 *80% 1,791
c Bt E 2,917
-tE=g 120,000& =122 1,440
-EXNRESFIOEE 11,5353 +8A1 2Fx16Y 1,477
Jl23Hl 38,959 51,355 A12,396
Jl=23dHl 38,959 51,355 212,396
201 2Bt | 8,035 8,035 0
01 At 22l bl 8,035 8,035 0
ORN=2E =32l 3,888,000& 3,888
OJl=zgde=d Sl 4,147,000& 4,147
202 Ol 28,224 40,320 12,096
01 204l 28,224 40,320 A 12,096
OJlzg+d0 40,320,000& *70% 28,224
203 2R =AY 2,700 3,000 A 300
04 FANE2EERFAH| 2,700 3,000 A 300
OFNM2gE 2T 3,000,000 *90% 2,700




